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ES Al 14,570,137 17,449,387 A 2,879,250
A= 751,900 746,400 5,500
200 Mel=+=¢ 440,500 440,500 0
210 S FAM 2= 438,500 438,500
213 ==Y 438,500 438,500 0
213-02 M ellJ|MelSF e+ 200,000 200,000 0
OoMdIIMel=F i+ 200,000
213-03 MEES=HEM =+ 115,000 115,000 0
OMEES =HEM 100,000
OB=2 8% B+ 15,000
213-04 DBt = 123,500 123,500 0
OsasMdlIMel=+2 50,000
OsYAHdels+= 14,000
OUEHIISHel =42 9,500
ONEHIIESHel === 50,000
220 YA BN+ 2,000 2,000 0
223 WAL UEHES 2,000 2,000 0
223-03 MEHE 2,000 2,000 0
OmIISZ2IY 2y 2,000
500 Ex3 311,400 305,900 5,500
510 = 1 EX3S 299,500 294,000 5,500
511 =18xX38 299,500 294,000 5,500
511-01 | 1EX3 299,500 294,000 5,500
OB Y4024 7,500
OBtE o 5tRMYIIH 5 250,000
OYsHUY &5t 42,000
520 Al - SHIBXZS 11,900 11,900 0
521 Al - SHIEXZZ=S 11,900 11,900 0
521-01 Al - EHIE XSS 11,900 11,900 0
OHHBIE=+=HE & 11,900
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210 & H A=Y 200,000 200,000 0
212 B2 ¢ 150,000 150,000 0
212-03 St AMEZ 150,000 150,000 0
Oot=% MEZ 150,000
216 Ol Rh== & 50,000 50,000 0
216-01 S S0 S0l Xt == 50,000 50,000 0
OZZ02 01N+ 50,000
220 AN 2 = 51,600 58,600 A7,000
222 RES 50,000 50,000 0
222-02 LetEEH3 50,000 50,000 0
Oct=& 2T B3 50,000
225 K& =¢ 1,600 1,600 0
225-01 NtHAE ¢ 1,600 1,600 0
O8+5 23 1,600
500 Ex3 4,546,000 5,948,000 A 1,402,000
510 3 1E2x=S 3,744,000 5,603,000 A 1,859,000
511 =18X=S 3,744,000 5,603,000 A 1,859,000
511-01 212 Xx3 3,744,000 5,603,000 A 1,859,000
Odgdlg dst=xXel= o= 350,000
Oge, ZADS ot4=(28) 3,394,000
520 Al - SHIEXZS 802,000 345,000 457,000
521 Al - SHIEXZ2S 802,000 345,000 457,000
521-01 Al - SHIEX S S 802,000 345,000 457,000
oddle staxas Mol 75,000
Ogg, BAOS st4Z(28) 727,000
700 28 +=USHHE HH 9,020,637 10,496,387 A 1,475,750
710 284S 200,000 200,000 0
711 dHS 200,000 200,000 0
711-01 = MAL 03 200,000 200,000 0
O=HHYCZ 200,000
720 LHE HeH 8,820,637 10,296,387 A 1,475,750
721 HY= 8,820,637 10,296,387 21,475,750
721-03 JIEtS HE & = 8,820,637 10,296,387 A 1,475,750
ogursl M3 8,820,637




